
Two-Digit Addition (J)

17 + 40 = 92 + 76 = 44 + 22 =

12 + 77 = 47 + 57 = 68 + 90 =

89 + 64 = 27 + 23 = 65 + 41 =

93 + 80 = 26 + 40 = 78 + 53 =

81 + 65 = 95 + 89 = 78 + 14 =

10 + 52 = 99 + 44 = 82 + 98 =

85 + 44 = 22 + 29 = 84 + 27 =

83 + 50 = 57 + 48 = 62 + 33 =

24 + 94 = 84 + 20 = 19 + 94 =

48 + 39 = 95 + 44 = 74 + 88 =

42 + 24 = 93 + 70 = 27 + 34 =
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Two-Digit Addition (J) Answers

17 + 40 = 57 92 + 76 = 168 44 + 22 = 66

12 + 77 = 89 47 + 57 = 104 68 + 90 = 158

89 + 64 = 153 27 + 23 = 50 65 + 41 = 106

93 + 80 = 173 26 + 40 = 66 78 + 53 = 131

81 + 65 = 146 95 + 89 = 184 78 + 14 = 92

10 + 52 = 62 99 + 44 = 143 82 + 98 = 180

85 + 44 = 129 22 + 29 = 51 84 + 27 = 111

83 + 50 = 133 57 + 48 = 105 62 + 33 = 95

24 + 94 = 118 84 + 20 = 104 19 + 94 = 113

48 + 39 = 87 95 + 44 = 139 74 + 88 = 162

42 + 24 = 66 93 + 70 = 163 27 + 34 = 61
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